INTERMEDIATE EXAMINATION-2025

SCRHIISUC URIET—2025
( ANNUAL/ a1i¥a® )

SOCIOLOGY ( ELECTIVE)
FHTOTeS ( Ufod )

LA.
hel YR [ 100+30+8 = 138 A Ere
Total Questions : 100+30+8 = 138 Subject Code: 325
(9T : 3 B 15 AFe) ( qorfe 100 )
[ Time : 3 Hours 15 Minutes | [ Full Marks:100 ]

Instructions for the candidates:
1. G¥ErRif OMR SV YF@& v 797 597 Gleaar #H1d (10 il &) a9 [ordd |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. Rl Ferya suT Il 4 & g &/
Candidates are required to give answers in their own words as far as practicable.
3. QIR SN EIPF ¥ [V 8V S quler [HfdT vd &/

Figures in the right hand margin indicate full marks.

4. FFII Pl €77 qaH GgH B o7y GAEnRFl @l 15 [HTC BT SlaiaT FHT &A1
T E/

15 minutes of extra time have been allotted for the candidates to read the
questions carefully.

5. ¥ HoT gNa®T & GUsl H & — TUS—3 3N Gre—q |

This Question booklet is divided into two sections-Section-A and Section-B.
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6. GUS—3 H 100 JVGITT F97 & [or7H & PaeT 50 Fe H & TV & S7ared
&/ 60 7o & HfIF BT AV @7 GV FIH 50 I T & qoAIBT &I AAE
ToT & [o17 1 3iF [FEIRT &/ 77 8 GV &I SUTe Bl T4 OMR v
gz d 7% T wWel ey B Hiol / Biet FicT U7 TG B/ [ gHIv
P FISTTV,/ TV GeTel &S,/ TG 3lc BT OMR IV FF H FIIT BT 747
& 31T GET GRITE 3§17/

In SECTION-A, there are 100 objective type questions, out of which any 50
questions are to be answered. If more than 50 questions are answered, then only

first 50 questions will be evaluated. Each question carries 1 mark. For answering
these darken the circle with blue/black ball pen against the correct option on
OMR Answer Sheet provided to you. Do not use whitener/liquid/blade/nail etc.
on OMR Answer sheet /otherwise the result will be treated invalid.

7. @e—§ H 30 g FINT HIT &/ for7H @ qAF H 2 3F [FEiRa & forTd o
fored] 4} 15 Fo1 @7 GGV &7 a8 1 §7P AR FT 5 GUS H 8 Fe Ty
7o 13 T & o775 F [B8T 4 F9] BT GV & 8/ D FIT B o7 5 F
feRa 8/

In Section-B, there are 30 sheet answer type questions, each carrying 2 marks,
out of which any 15 questions are to be answered. Apart from this, there are §
long answer type questions, each carrying 5 marks, out of which any 4 questions
are to be answered.

8. IFHl gBIw & SATLII1E FUBYT BT FIIT GUTIT Tioid &/

Use of any electronic appliances is strictly prohibited.
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us — 31/ SECTION-A
RIS YR BT 99/ Objective Type Questions

77 =T 1 | 100 GF & F5 & AT TV [3%e9 179 T4 & [or7H & V% T8 8/
78T 50 F97] @ &1 SV Y7 EIT g7 TV Hel f[ddbey &l OMR  ¥fic uv [afeTq
A d 50 X 1 =750

Questions Nos. 1 to 100 have four options, out of which only one is correct. Answer
any 50 questions. You have to mark your selected option on the OMR-sheet.

50x1 =50

1. ‘3T RS TP & oEgd DI 5o

(A) THHAL g (B) wHTA. fvar|

(C) TGP =M (D) wfEgHg

Who is the author of the book ‘Indian Society’?

(A) S.C.Dube (B)  M.N. Srinivas

(C)  Hetukar Jha (D)  Sachchidanand
2. ARSI SeaTdell df IfT fHd AT 9 8 57

(A) <ifed 8k wa (B) <ifesd

(C) <ife 3R Fw (D) W&

From which language has the term ‘Sociology’ been derived?

(A)  Latin and French (B)  Latin

(C)  Latin and Greek (D)  Greek
3. P # 9 @1 fig far &1 9ved 27

(A) affid dad (B) ¥ wifta

(C) <fa (D) Swfw T+

Which among the following is the aim of Hindu marriage?

(A)  Religious duty (B)  Progeny

©) Sexual relation (D)  All of the above

4. gRere fadre «ar &7
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(A) |Hsiar (B) R

(C) - forem (D) o Redl
What is Muslim marriage?
(A) Contract (B)  Sacrament
(C) Friendship (D) Strong bond
. ARERT @ fhaei ST Bkl &7
A) (B)
(©) =R (D) dH=
How many categories of kinship are there?
(A) Two (B) Three
(C) Four (D) Five
. ‘TIRY ARGRI & [ $ofl & faela o7d 87
(A) wrRIff® ARER (B) fgdae -deR
(C) qeige ATder (D) 3faR® AER
‘Grandfather’ comes under which category of kinship?
(A)  Primary kin (B)  Secondary kin
(C) Tertiary kin (D) Internal kin
. T g | war fdars &1 vEed 27
(A) g W (B) R S
(C) anfeard HATS (D) R gA
In which society ‘marriage by service’ in found?
(A) Hindu Society (B) Muslim Society
(C) Tribel Society (D) Sikh Society
. fiq faars foe FaR &2
(A) d= (B) <
(C) 3me (D) <=
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There are how many types of Hindu marriage?

Seven

Ten

el URER
ARRC

Avunculate

Sororate

TP, ST
Afeaeg

N.K. Datta
Sachchidanad

IEEELIN
IR AT

Hindu Society

Muslim Society

YNE

(A) Five (B)

(C) Eight (D)
9. 91 H ¥ &I AIERI @I Afd 78 27?

(A) uRER (B)

(C) uReEN™ Hey (D)

Which of the following is not kinship usage?

(A) Avoidance (B)

(C) Joking relation (D)
10. fHET H8T “SIfd U d8 a7 &°°

(A)  FFTR (B)

© gRa (D)

Who said “Caste is a closed class”?

(A) Majumdar (B)

(C)  Ghurye (D)
11. T8 F91ST | IR fAarE &1 gaa or?

(A) 3nfeard FATS (B)

(C) 918 FA (D)

In which society Asur vivah was practiced?

(A) Tribal Society (B)

(C) Christian Society (D)
12. gRY gRT SId Fgeer &1 fhaei faRivamsil &1 e fdar 7ar 22

@A) (B)

(C) <ime (D)

How many features of caste system is narrated By Ghurye?

Six

(A)

(B)

Seven
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(C) Eight (D) Eleven
13. I e =1 9 9 fhaer aRomg 87

(A) NS dOy &1 (B) SRISTIRI &l

(C)  dvf =gavel &1 (D)  SirEm BRI %1

Class system is the result of which of the following?

(A) Social Conflict (B)  Unemployment

(C) Varna System (D) Industrialisation
14, YRFHIBROT B ERO fha [dwiaa ore

(A) TUIR<HAE (B) THHL gd

(C) TANA. sifvar (D) <ITd g3y

Who developed the concept of westernization?

(A) A.R.Desai (B) S.C.Dube

(C) M. N. Srinivas (D) G.S. Ghurye
15. fhael STfa @aver &1 SR & grervrare] Rigld o adreld fear?

(A) FFFR B) R

© gRa (D) IS

Who advocated Brahminical theory of origin of caste system?

(A) Majumdar (B) Rislay

(C) Ghurye (D) Nesfield

16.9% faaE ¥ wa fr Sifd @ & 9= oifd @ goy ¥ fJarg o=l 2, S
AT Hed &7
(A) dfefdars (B) 3™ fdarg
(C) sr=fdars (D) ufaam
What is a marriage in which a women of lower caste marries a man of the
upper caste as?

(A) Exogamy (B) Hypergamy
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(C) Endogmay (D) Hypogamy
17. O8N A &I WAYAT BT BT fBa @ 2

(A) T AT (B) =

(©) i R (D) frew
Who imagined the establishment of classless society?

(A) Karl Marks (B) Heney
(C) Herbert Rislay (D) Engals

18. UTH YA § I TR & T 37eT &val 57

(A) R B) T WA
(C) U= (D) ud

Who acts as a judge in the Gram Panchayat?

(A) Mukhiya (B) Gram Sevak
(C) Sarpanch (D) Panch

19. f=rfaiad ® & {6 g = U=l 61 gaven |waued faharaw fabar ?
(A) ¥ UQE (B) SR U
(C) fIER (D) TSR
Which one of following states was the first to introduce Panchayati Raj
System?
(A) Madhya Pradesh (B) Utter Pradesh
(C) Bihar (D) Rajasthan

20. ATl IS AT H 7 A | 3 fead sae 77
(A) UM v=Id (B) f3rerm uRug
(C) v=m™d | (D) YaEd Aad
Which among the following is the lowest unit of the Panchayati Raj
institution?
(A) Gram Panchayat (B) Gila Parishad
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(C) Panchayat samiti (D) Panchayat Sevak
21, WRA H 9 qu a1 fdrd |a1 YRH fdhar Tar?
(A) 1975 (B) 1985
©) 1974 (D) 2011
In which year Integrated child development scheme(ICDS) was launched in

India?

(A) 1975 (B) 1985
©) 1974 (D) 2011
22, “T HIIFdA9 36 ARSI TRIH & oD DI 57
(A) 3Irig g (B) e
©) fres=a (D) we
Who is the author of the book “The Consequences of Modernity”?
(A) Yogendra Singh (B) Bergal
(C) Giddens (D) Marton
23. YRA ¥ fHE a9 garTHall SR ISl Yo bl 157
(A) 1993 (B) 1994
© 2009 (D) 2011
In which year P.M.R.Y. was launched in India?
(A) 1993 (B) 1994
(C) 2009 (D) 2011
24. <iffrep fawHdT &1 Heay e § 9 fhad T8l 27
(A) W HEISTS qeal | (B) 3Rfagawer |
(C) RroHIf® Heai | (D) SUHRbETR A
Gender disparity is not related to which of the following?
(A) Social value (B) Economy
(C) Political value (D) Consumerism
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25. {6 ¥ qifored THfE AT FHIMAT DI TS 2

(A) 1995 (B) 1997
(©) 1998 (D) 1999
In which year was Balika Samridhi Yojna launched?

(A) 1995 (B) 1997
(©) 1998 (D) 1999
26. IRA # |l fae Faged =il 9o & favg oAt Iors ?
(A) S¥RES [TEmRITR (B)  HaTeAT W7l

(C) TSI I A8 ™ (D) Ul T™e

Who was the first to raise voice against sati Pratha in India?

(A) Ishwarchandra Vidyasagar (B) Mahatma Gandhi
(C) Raja Ram Mohan Roy (D)  Annie Besant

27. 911 fqare FRw® srfafrm fw ay dr fdar war or?

(A) 1910 (B) 1929
© 1925 (D) 1939
In which year the child Marriage Restraint Act was implemented?
(A) 1910 (B) 1929
©) 1925 (D) 1939

28. wRA H REml &1 /=1 Rfq @1 Hiford dRor =7
(A) gD IRAR (B) TP uRaR
(C) eI (D)  mfeepIehRoT
Select the basic system for the low status of woman in India?
(A) Joint family (B) Nuclear family
(C) Urbanization (D) Modernization

29. HRSARN Bl YR Tad=dl e § AT 819 T Ifare- fea+ fhar?
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(A) HeTeHT T (B) SIATERd 8%

(C) HwRaT e (D) <HA faa®
Who invocated the woman to take part in Indian Freedom Movement?
(A) Mahatma Gandhi (B) Jawarharlal Nehru
(C) Kasturba Gandhi (D) Lokmanya Tilak
30. fofT (SfsR ) @ 87
(A) Sifd® o (B) HATATISTh—WIRD I TR
(C)  #HIASTID STRIROM (D) YToTifcres STEROT
What is Gender?
(A) Biological concept (B)  Socio-cultural concept
(C) Psychological concept (D) Political conectp
31. “Haetr Ao 9 # fea ) afsd 8°
(A) oI ARl W) (B) fomenRal @
(C) =g o™ w® (D) et SH®R
“SABLA” shema is focused on which of the following?
(A) Destitute women (B) Adolscent girls
(C) Maternity benefits (D)  Child labour
32. AT & STFAR a¥ YROT BT R FT 57
(A) 3w (B) MINTD
(©)  roif (D) wrepfi®
What is the basis of determination of class according to Marx?
(A) Economy (B)  Social
(C) Political (D) Cultural
33. HAfzamRIl & JEiie Reafd foa wra 3 Faifts =1 of1?
(A) ofeH o1 (B) HTel Bl
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(C) dig BId (D) T« B

In which period the status of women was extremely low?

(A) Vedic Period (B)  Mughal Period
(C) Buddhist Period (D)  Gupta Period
34. 91 H ¥ DI WEITD WRIGROT BT WHY 81 27
(A) oH (B) o
(C) i (D) fofwr
Which of the following is not a form of social stratification?
(A) Religion (B) Class
(C) Caste (D) Gender
35. fael @aT, “g¥ amegfcae fh d favary 277
(A) <iIeR (B) HICIHRDT
(C) woR (D) AR
Who said, “Religion is the belief in spiritual being”?
(A) Tylor (B) Malinaski
(C) Frager (D) Majumdar
36. [ oy qeol FRIE® AfSRE aiikd gaim o172
(A) 1956 (B) 1959
(C) 1961 (D) 1992
In which year was Dowry Prohibition Act Passed?
(A) 1956 (B) 1959
(©) 1961 (D) 1992
37. WRA H AR & & SR T 27
(A)  STURIfEe HAIghy (B) foiear va SRl
(C) RIoIIfad et (D) ARGIIS f=ran

What is the main cause of communalism in India?
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(A) Criminal attitude (B) Poverty and Unemplyment
(C) Political self (D) Cultural difference

38. WIS IR ¥ &1 drcad 57
(A) MRS Fadi | Iaerd (B) HMINT® HUS H dqcld

(C) wAIT® HqE H uRacH (D) SWRKH T

What does social change refer to?

(A) Change in social relationship (B) Change in social interaction
(C) Change in social group (D) All of the above

39. fa=faRad § 9 &I a1 efaRUeTar o1 31 8] 87
(A) fafi= g9f &1 dI—siRa@ (B) XTS¥ T 3MYAT His oH F BiAT

(C) o™ g¥ & ufa s1|T (D) enfi® Heexar
Which among the following is not the meaning of secularism?
(A) Co-existence of different religion

(B) The state not having its own religion

©) Respect for other religion

(D) Religious rigidity
40. “TI9TT T YSTdoll BT TANT FavH foas fhar?

(A)  ifTe (B) g

(©) WX (D) R
Who coined the term “Social Change”?

(A) Ogburn (B) Durkheim
(C)  Spencer (D) Morgan

41. 91 9 | P9 ITNBRT BT RSP 8] 87
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(A) dNIR BT Qo]

(B) Soaciad R HIYSR cdd
(©)  wRTER fAfiT
(D) <
Which among the following in not the motivator of globalization?
(A)  Search of market
(B)  Electronics and computer network
(C)  Multinational investment
(D) Indegenous
42, =1 9 3 {9 SIS T <l W9 BT Sl &7

(A) STEIR (B) <9<
(C) = guIfeTehT (D) w1 yRug
Which among the following is called the fourth pillar of democracy?
(A) Media (B) Parliament
(C) Judiciary (D) Cabinet

43. StoTforal ® Sfrad |l garg ok @) fhas ugfodt 87
(A) as (B)
(C) (D) “RE
How man ways of acquiring mates are there in tribal society?
(A) Eight (B) Seven
(C) Five (D) Eleven

44, =1 | 69 e F Sl & oy dearr sl o g fhar?
(A) w\d Har |9 (B) onfew war s«
(C) < (D) fpRow e
Which of the following organization initialed walfare works for tribals?
(A) Serve seva sangh (B) Adim Seva Sangh
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(C) Janasangh (D)  Christian Missionaries
45. f5a au IERT AT SRART &7 T3 gaf AT?

(A) 2005 (B) 1947
(©) 1975 (D) 1992
In which year National commission for women was established?
(A) 2005 (B) 1947
(©) 1975 (D) 1992
46. |IvIM Y9 99 Ye@R RIS B U1ikd garm oa1?
(A) 1947 (B) 1948
(C) 1955 (D) 1960
In which Year for the first time Prevention of corruption Act was enacted?
(A) 1947 (B) 1948
(C) 1955 (D) 1960
47. JTAIS TP o—
(A) AT HHedT (B) #Ard=eG Haheu
(C) IS Hebedr (D) SWRH |4
Minority is a:-
(A) Sociological concept (B) Psychological concept
(C) Political concept (D) All of the above
48. HSel AN & Heel b o7?
(A) T AT HSA (B) M ARMEU Hed
(C) fd<zadl yare wed (D) ufe dre A
Who was the chairman of Mandal Commission?
(A) Mangni Lal Mandal (B) Ram Narayan mandal
(C) Bindeshewari Prasad Mandal (D) Dhanik Lal Mandal
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49. THHI. g9 7 9NN gite | AR Sariaal @l fbas wrm # faariora
fepar 87

(A) @ (B) M
(€) =R (D)
Into how many parts has S.C Dube divided the Indian tribes geographically?
(A) Two (B)  Three
(C) Four (D)  Five
50. fra BT, “HRGOT YUlTell AT oA | a8l 2777
(A) U (B) @sfdw
(C) == (D) wHIT
Who said, “Stritification system derives from common values™?
(A) Parsons (B) K. Devis
(C) Tumin (D) M. Young
51. AMITDG KNSR B AHTTH—Hpiae MR =1 #§ | =81 87
(A) o (B) gaa™
(C) wefa (D) wwfT
Which of the following is not the socio-cultural basis of social stratification?
(A) Religion (B) Occupation
(C) Race (D)  Property
52. “SrIgfaa S wres fhde far?
(A) TS (B) 3rISaN
© R (D) gdm
Who gave the term “Scheduled Caste’?
(A) GandhilJi (B) Ambedkar
(C) Welar (D) Durkhim

53. ST &7 gAfRYeT Uge] FfoRad | ¥ fhay Hefe 272
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(A) - aiffie g (B) SMIIRIG Siad

(C) TRPR 3R oI (D) WI&plds A8
The secular aspect of caste is associated with which of the following?
(A) Religious group (B) Community life
(C) Government and Politics (D) Cultural group

54, “HMG AR WG S & o@D DI 52

(A) THEL BICH (B) UEHl. g4
(C) <iwd. gRy (D) @®.UA. YfvTahR
Who is the author of the book ‘Manav Aur Sanskariti’?
(A) S.V.katkar (B) S.C.Dube
(C) G.S. Ghurye (D) K.M. Pannikar
55. ‘BRC’YE PR IR [ 9T ¥ T3 &7
(A) 3 (B) gefTeh)
(C) wufrer (D) @+
The word ‘caste’ has been derived from which language?
(A) English (B) Portuguese
(C) Spanish (D) Chinese
56. THIOT &3 Sl WER P gRI R BIAT 8, I 9T P8l Sill &7
(A) SUER (B) <niR® gamd
(C) T"RI 4 (D) Tl ST
The rural area surrounded by the city known as?
(A) Sub-urban (B) Hinterland
(C) Urban Village (D) Slums
57. feie Te’l & faar @1 B =Rl # fawrfora fear 22
(A) o9 fael (B) &I
(C) o (D) firsw
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Who has divided the growth of town into six stage?

(A) Lousis wirth (B) Mumford
(C) Thompson (D) Giddes
58. ¥dq & fbd 9N § =R qull HI <l Bl TS 57
(A) oI (B) gefd
(C) TwE (D) famra
In which part of Rig Veda four varnas are mentioned?
(A) Purushsukta (B) Suruti
©) Vaisakha (D) Mimansa
59. Uch WHIG Pl eI B FHY HAAE o fbd I & AeqTA & IR
UR AR ITBROT DI TR T 52
(A) FACH (B) @xd
(€) dhaTg (D) faer

While studying a society srimivas has given the concept of sanskritization on

the basis of study of which state?

(A) Karnataka (B) Kerala

(©) TamilNandu (D) Bihar
60. AT ST H JRIAT BT T HaT ST 52

(A) =ish (B) uxHAIMOIS

(C) WRER (D) e

What is Mukhiya known as among santhal tribal?

(A) Manjhi (B) Parminik

(©) Sardar (D) Godet

61. SO Wwpid 4 § 9 foad &1 Heafda 2?

(A) 4, upfd IR Rarst (B) <% WRERT
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(C) arfefar 3R gern (D) @aa eH

To which of the following tribal cultural is associated?

(A) Land, Nature and Rituals (B) Folk tradition
(C)  Economy and sunstones (D) Religion only
62. FHIST Bl JTURT H T APATId el 82
(A) uR@RST (B) fa9=tar
(C) WER feiRen (D) 9 HT1 ured
What is not included in the concept of society?
(A) Reciprocity (B) Differences
(©) Interdependence (D) Adherence to time
63. =1 # | = ATSTS URFd= # “fIaRI” &1 YAST R 9 fear?
(A) 7 AR (B) % ¥
(C) Wer (D) <ig=e
Who among the following emphasized the role of ‘ideas’ in social change?
(A) Karl Marks (B) Max Weber
(©) Pareto (D) Toynbea
64. /=1 # | HH—AT IRIAT—HIdd M 8l 57
(A) TERAT MR (B) +fzar gfh anare
(C) =fera arerer (D) IIReAU—faRREN 37arer
Which on of the following is not the change-Promoting movement?
(A) Literacy movement
(B) Women'’s Liliberation Movements

(@) Dalit Movement

(D) Anti Resarvation Movement

65. ¥ # 9 BT AT APIIRT & forw 97 77
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(A) I WA URad ol gfshar 2
(B) S9! goaa fafeer emasaTa | g8 |
(C) I HHINTe YRad &1 dfesiid |rd ¢ |
(D) ¥g Refdy uRada @7 v ufshar 2|

Which one of the following statements about sanskritijation is correct?

(A) It is a process of structural change
(B) It started with the advent of British rule in India
(©) It is an exogenous source of change
(D) It is a process of positional change
66. ‘TN FHIST @1 RIUAT fha @1?
(A) ™ S TR (B) +eRax
(C) (A) 3R (B) <=t (D) <HH 9 BIg T8
Who founded ‘Prarthna Sama;j’?
(A) Ram G. Ranade (B) Bhandarkar
(©) Both (A) and (B) (D) None of the two
67. /91 # & DI FHIORTA & WA ¥hd 9 Fafed T8 &7
(A) ST BI (B) 3@™
©) we (D) Ay
Who among the following does not belong to French School of Socilogy?
(A) August Comte (B) Durkhim
(©) Pareto (D) Montesque
68. IS favafdenad H 1919 5. H THIGTYRA I YOI b BHI?
(A) waTd. AfEs (B) gRa
(C) % frsw (D) s, g

Who introduced Sociology in Bombay University in 1919?
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(A) M.N. srinivas (B) Ghurye

(©) Patrick Giddes (D) R.K. Mukharjee
69. =1 # | a1 Sl @ 9 AREATHS X 99T WEE H A Bl &7
(A) o FReify (B) o w1
(C) y—wfia (D) ufgzam iR wgyor
Which one of the following helps to maintain the structural distance between
castes?
(A) Economic state (B) Political Power
(©) Land ownership (D) Purity and pollution
70. 771 % 9 DI AT R WR AR BT TG 81 57
(A) T I H gig (B) HAfEer SITmahen
(C) @R (D) PfY ST # gfa

Which one ot the following is not the impact of globalization on India?

(A) Increase in national income (B) Women awareness

(C) Nationalization (D) Increase in agricultural product

71. 91 H ¥ I A iefeave & TR WR 27

(A) RPR Sia (B) P ww

(C) Yer IR &R (D) feEnfre 'R

Which one of the following is the second stage of primitive economy?

(A) Hunting stage (B) Agricultural stage

(©) Pastoral stage (D) Industrial stage
72. FAGTRTE & fawg &= &1 faae wmi # dfer w82

(A) @I (B) M

(©) =R (D) dH=

The Scope of Sociology has been divided into how many parts?
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(A) Two (B) Three

(©) Four (D) Five
73. W | AAEISTS aRad H 6 dR& &A@yl AT 2°?
(A) enidi® (B) <roHfa®
(C) erffw (D) <iepfe
Which factor did Marx consider important in social change?
(A) Economic (B) Political
©) Religons (D) Cultural
74, I B JGURON 1 § F gt &1 ofi?
(A) #Had (B) # 9R
(C) ¥R (D) et
Who among the following had given the concept of institution?
(A) Max (B) Max Webeber
(©) Spencer (D) Marshal
75. T gror &3l Bl TR &A1 § uRadd dl TRIGRI $Hel 27
(A) aita (B) wosva
(C) wHe (D) &
Who called the transformation of rural areas into urban areas as
urbanization?
(A) Bergel (B) Anderson
(©) Mumford (D) Cooley
76. TR grfeidr feasa’ w9 7911 SITaT 87
(A) 11 SfaceR (B) 11 fadeR
(C) 12 3 (D) 1157

When ‘International Girl Child Day’ is celebrated?
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(A) 11 October (B) 11 September

(©) 12 August (D) 11 June
77. 791 9 9 B [98R & SUggHE €7
(A) faorg Rsr (B) w#re =
(C) A 3R B aFi (D) 7dar AR B
Who among the following the deputy chief Minister of Bihar?

(A) Vijay Sinha (B) Samrat Choudhary
(©) Both A and B (D) Neither A nor B
78. T8 a¥ SIERT BT YRA & dvs AN Ya¥ & wd ¥ 10T a1 Tar?

(A) 2019 (B) 2020

(C) 2021 (D) 2022

In which year Ladakh was established as a Union Territory of India?

(A) 2019 (B) 2020

© 2021 (D) 2022
79. S AN B T | 9 fhad Fdfod 87

(A) Xl qbH™ (B) @i @yt

(C) % T (D) =t Ao

The Jan Aushadhi Kendra related to which of the following?

(A) Affordable house (B) Affordable clothes

(©) Affordable Medicine (D) Affordable food
80. fagR & e w3 & &7

(A) 3rEd ArRRT (B) wure @R

(C) T TR (D) SWRRH # A B T

Who is the Education Minister of Bihar?

(A) Ashok Chaudhary (B) Samrat Chaudhary
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©) Sunil Kumar (D) None of the above
81. fr1 # & fhaa! sierfiaxer dAR a=Rar 27?

(A) \HINTS ST €H df qHADT
(B) uRar # fuar &1 iR

(C) wirfa egawen

(D) SRRb W

Which among the following is weakend by industrialization?

(A) Role of religion in social life  (B) Father’s authority in the family

(C) Caste System (D) All of the above
82. ffeiRad # | B I P AR 7T&l 57
(A) EFI AT (B) AT 9T

(C) MM IoHIae faaReRT (D) A= Sirae el

Which of the following is not the basis of community?

(A) Common locality (B) Community Sentiment

(C) Common Political ideology (D) Common way of life
83. IMId AR fhad gRT enfiad grar 272

(A) HAIH (B) ®IT &I AT

(C) <& &I (D) YRIR® §o

By whom the modern Society is governed?

(A) Conventions (B) Rule of law

(C) Devine law (D) Physical force
84. 31U Ul U1 & |IeT B Al | DA H&fed sr?

(A) #m (B) A

(C) =rh (D) =
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How will you be related to your father’s brother-in-law’s mother?

(A) Mami (B) Nani

(©) Mausi (D) Sister
85. o=t # | pIH—ar gfed faen o gRad+ 87

(A) sefa@m (B) wfa

(C) faor (D) wad fawr

Which of the following is the change in a desired direction?

(A)  Evolution (B)  Progress

(C)  Development (D)  Sustainable development
86. RA | 7 § I 19 AT dRB I Uhdl § dEd ol o7

(A) wirfaare (B) e&=a=

(C) gAem (D) fem

Which of the following factors is not an obstacle to National Integration in

India?

(A) Casteism (B) Regionalism
(C) Fanaticism (D) Education
87. =1 # & &I I uRqd BT Wwy T8l &7
(A) fawr (B) wfa
(©) s (D) R
Which among the following is not a form of social change?
(A)  Development (B)  Progress
(C)  Evolution (D)  Unemployment
88. RGN HIUH HT Y& YAET F7 272
(A) S (B) @ o g9
(C) oM e (D) SwRIH W
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What is main parameter to measure urbanization?

(A) Population (B) Density of Population
(©) Modern values (D) All of the above
89. IMYMHIDHRYT HT IRV T 52
(A) T T BT I (B) werar # gfg
(C) <R (D) SWRIb 41
What is the consequence of modernization?
(A) Emergence of new classes (B)  Growth in literacy
(C) Unemployment (D)  All of the above
90. ARG AT URYE & IHLeT qaar § I &7
(A) IRETH (B) amg AR
(C) 3 awrd (D) =% A 3
Who is presently the president of Indian Sociological Society?
(A) R.Indra (B) Anand Kumar
(C) Maitrayee Chaudhary (D) None of these
91. 1 & ¥ & YRd &7 T ABR 872
(A) o fega (B) @Il
(C) <= (D) <rraeh
Which one of the following in the national festival of India?
(A) Republic Day (B) Holi
(©) Dashara (D) Dipawali
92. YR AP & 7 # | &= I fawrwar 27
(A) oH BT Tl (B) @Hwd H faward
(C) 3IeAT 3R Yo ¥ fagarq (D) |

Which one of the following is a feature of Indian cultural?
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(A) Dominance of religion (B) Belief in Karmfal

(C) Belief'in soul and rebirth (D) All of these
93. b P, “TIAT BT 3ff TR BIAT 27 ?
N (B) £ wifa
(C) vua faed (D) RIS
Who said, “Civilization means the city”?
(A) K. Davis (B) E.E.Bargal
(C) L. Wirth (D) R.Bierstaedt
94, /1 # | D19 |1 mafs el T2 2°
(A) dfa—ych (B) =mem—wciren
(C) wig—ve (D) fac—g=
Which one of the following is not a primary kin?
(A) Husband-wife (B) Uncle-Nephew
(C) Brother-sister (D) Father-Son
95. f=1 # & B9 |1 AHS & AT H AEyel MR T 87
(A) dfcr (B) wrigomeft
(C) Hifts ARGa® (D) <mHISTe =T
Which of the following is not an important basis in the formation of a
society?
(A) Usage (B) Procedural
(©) Material cultural (D) Social control

96. A STH BT U B & HHdg TITT DI RIT BT Sl 87
(A) deror (B) srgHem
(C) ergfa (D) yeTael

What is systemetic effort to acquire new information called?
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(A) Survey (B) Research

(©) Schedule (D) Questionanarie
97. HHISIYIRA 3R 3T QA1 fhdedhT 3egd= Rl 872

(A) RIS (B) uRar

(C) r=a (D) roifde

What does Sociology and Economics both study?

(A) Unemployment (B) Family

(©) State (D) Political Party
98. "HHIGIRIRA s 1y &7, I8 fhadT Ho 872

(A) <. <ge e (B) U gded

(C) #IR® (D) & W

“Sociology is a craft”, who stated this?

(A) C. wright mills (B) Alex Inkeles

(©) Maclver (D) Herbert Spencer
99. AT YRET &I T HEAYUT HIRDb FIT 57

(A) drenfirar (B) v

(C) T (D) e

What is the most important factor of social change?

(A) Technology (B) Population

(©) Law (D) Religion

100. T URAR, Tdh Whol 3R UH =d fhad ISR 87
(A) MRS A8 (B) <™ wer
(C) v |re (D) wmfsis wepid

A family, a school and a church are example of what?

(A) Social group (B) Social institution

Page 27 of 31



©) Social organization (D) Social culture

Yus—B / SECTION-B
oY SRIG U7 / Short Answer Type Questions

o7 G 1 ¥ 30 TG FIIT &/ 5761 15 Fo9 & FY &/ HAP 97 & [o17 2

3 [Fra 8/ 15x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each
question carries 2 marks. 15x2 =30
1. fovq faTe @ <F wigd 9uT oY | 2
Describe two aims of Hindu marriage.
2. IRA FAN @ &I fRIydrel &1 Seeig o | 2
Explain two characteristics of Indian Society.
3. IS Uhdl Bl GRATRIT B | 2
Define national integration.
4, AHISTS O & |7 IRIYamil &1 Seold o | 2
Explain two characterization of social class.
5. 9RA H SAENHRI & &7 BRI DI W B 2

Explain two causes of industrialization in India.

6. ST TS § Sg=anell U &R+ & {hol &I axidl &T 9o By | 2

Describe any two ways of acquiring mates in tribal Society.

7. ¥H & &I YBRI BT Ioad N | 2
Explain two functions of religion.

8. AreTel Mf$AT I 3T T |HSTA 27 2
What do you understand by social media?

9. AfZeAIAl & HHGIR WRY & &I BRI BT qU BN | 2
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Describe two causes for poor health of woman.

10. TSN ¥ 37T T |ASIA 27
What do you understand by H.l.V?

11. qrferet Rig] @ fdbel a1 AARISH &1 oot B |
Explain any two problems of girl child.

12. 99 T8 MY T A 27

What do you understand by human trafficking?
13. fb=2l AR AT STl Fgardi & AW ford

Write the names of any four scheduled Tribe communities.

14, AERT & 1 YRI YBIAT BT quid D |
Describe two main functions of kinship.
15. 48R § aRISRI & el &l HRUN Seeid BN |
Explain any two causes of unemployment in Bihar.
16. TRIGROT & & Y4TAT BT qui N |
Describe two effects of urbanization.
17. ReaT & < Pt P quie BN |
Describe two functions of Mukhiya.
18. IR & & GURUTHI TR TbTel Sl |
Throw light on two harmful effects of corruption.
19. gHARUETAT @1 &1 faRyamsil &1 quie @ |
Describe two features of secularism.
20. STESIET B QT TARISH TR ST ST |
Throw light on two problems of tribals.

21. Sy FdRIT & T QIS BT o BN |

Describe two demerits of caste system.
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22. SNfAdT & QT BT IR THIeT ST | 2

Throw light on two functions of ‘Jiwika’.

23. IO SIIHR ¥ 3T a1 FASTI 27 2
What do you understand by reproductive rights?

24, 91 JATHR T 57 2
What are child rights?

25. Aledhaed FA QI SURME S =i B | 2
Discuss two evil effects of drug addition.

26,7194 fdare ¥ o9 T FH B2 2
What do you mean by ‘Gandharv vivah’?

27. AHEISTS URedd & &l ¥Rl B g BN | 2

Describe two forms of social change.
28. UTH AHT T 87 2

What is Gram Sabha?

29. IATHEIH TG DI QT FARITS BT 9O & | 2
Describe two problems of minority communities.
30. S HgY & 1 HRON TR UBTeT STed | 2

Throw light on two causes of caste conflict.

e SR U%4/Long Answer Type Questions

ToT T 31 & 38 T GOvIg &/ [d78] v 797 & BV o7/ FAH J97 5
3% BT &/ 4x5=20

Question No. 31 to 38 are Long Answer Type. Answer any 4 questions. Each

question carries 5 marks. 4 x5=20
31. IRAT AP @7 T faRivdrei &1 faaemm & | 5
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Discuss the main characterisics of Inddian culture.

32, AR & JqER AR AfTIT BT gl N | 5
Discuss the concept and usages of kinship.

33. S SR H SR W A | 5
Distinguish between caste and class.

34. GERICH IS & Bl o fqd==r o | 5

Discuss the functions of Panchayati Raj.
35. Yo @R WX Udh e ford | 5

Write an essay on reproductive health.

36. SSIAT BTV & Ty ARBR §RT oY MY HEAl BT Jedihd P | 5

Evaluate the steps taken by the government for the welfare of tribes.

37. ASI® Siad § g™R © g9Tal B fada= T o | 5
Discuss the effects of corruption in public life.
38. T[T S B T THRITSH IR JhTel STd | 5

Throw light on main problems of scheduled castes.
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